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READ TEXT A AND TEXT B AND ANSWER THE QUESTIONS.

TEXT A

B | [1] Mahatma Gandhi
was a great freedom
fighter and non-violent
activist. He was born in
1869 in Gujarat, India.
He completed his
schooling in India and
went to England for
further study of law. He
then went to the British
colony of South Africa to practise law. There he

decided to become a political activist.

[2] Later, he returned to India and started a
powerful non-violent movement to fight for
India’s independence. Many times, he was sent to
prison, but he never discouraged himself and
continued fighting for national freedom. He
started many mass movements like Non-
cooperation Movement in 1920 and the Quit India
Movement in 1942.

[3] After so many struggles, India gained
independence in 1947. A year later, Gandhi was
assassinated. Gandhi proved that everything is
possible with non-violence and the unity of
people. Even after his death, he is still alive in the
heart of every Indian as ‘Father of the Nation’.

Adapted from: www.indiacelebrating.com

TEXT B

[1] Martin Luther
King was a great
symbolic leader who
worked for equality and
civil rights in the United
States. He was born in
1929 in Atlanta, Georgia.
He was a bright student
and skipped grades in
both elementary school

and high school. He graduated from high school at
fifteen. At university, he learned about Mahatma
Gandhi who helped change unfair laws in India by
teaching people to protest without violence. He
thought he could do the same in the USA.

[2] In 1954, Martin organised a protest
against racism on buses in Montgomery, Alabama.
He began to organise other non-violent protests,
and soon was a leader in the civil rights movement.
He was arrested and attacked many times. In 1963,
he led a march in Washington D.C. with over
200,000 people. In this march, he gave his famous
speech, “I have a dream”, in which he said that
people should not be judged by the colour of their
skin. Martin was awarded the Nobel Peace Prize in
1964. Four years later, he was assassinated in
Memphis, Tennessee. Martin Luther King's
birthday is a national holiday, and each January his
life and work are honoured by Americans.

Adapted from: www.encyclopediaofalabama.org
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I. COMPREHENSION (15 POINTS)

BASE ALL YOUR ANSWERS ON THE TEXTS.

A. FILL IN THE CHART WITH INFORMATION FROM THE TEXTS. (2 pts)

Mahatma Gandhi Martin Luther King
Date of birth |

Country of origin | ...

B. ARE THESE STATEMENTS TRUE OR FALSE? JUSTIFY. (3 pts)

1. Gandhi was assassinated before India became independent.

C. ANSWER THESE QUESTIONS. (2 pts)
1. Why did Martin Luther King skip grades at school? ... ... ... ... .. . . . i

D. COMPLETE THESE SENTENCES WITH INFORMATION FROM THE TEXTS. (2 pts)
1. Despite difficulties, Gandhi didn’t StOp ... ... .o

E. FIND IN THE TEXTS WORDS THAT MEAN ALMOST THE SAME AS (2 pts)
1. showed (Text A —paragraph 3): ......................

2. killed (TextB —paragraph2): ......................
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F. WHAT DO THE UNDERLINED WORDS OR PHRASES IN THE TEXTS REFER TO? (2 pts)

1. ‘Father of the Nation” (Text A —paragraph3) :........ ... .. .. ... .. ...
2. He (Text B—paragraph 1) :........ ... .. .. ... ....

G. CHOOSE THE RIGHT ANSWER. (2 pts)

Text A and Text B are about two

a. violent protesters.
b. prisoners of war.
c. political leaders.

Therightansweris.......... ... ... ..

II. LANGUAGE (15 POINTS)
A. GIVE THE CORRECT FORM OF THE WORDS IN BRACKETS. (2 pts)

1. Brahim’s (ambitious).................. is to become a lawyer.

2. The two political parties couldn’t (agreement) . .................. on the electoral reform.

B. FILL IN THE GAPS WITH THE APPROPRIATE WORDS OR PHRASES FROM THE LIST. (2 pts)

1. While I was shopping at the supermarket, I................. a famous actor.
letdown - puton - came across
2. Theinternational .................. is worried about global warming.
trade - community - system

C. REWRITE THE SENTENCES BEGINNING WITH THE WORDS GIVEN. (3 pts)
1. Because of bad weather, the airport authorities cancelled all flights.
Al gt . . o
2. “Where did you spend your holiday?” Rachid asked his friend.
Rachid wanted to KnOW . . . ..o e

3. You didn’t check a dictionary; that’s why you made many spelling mistakes.
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D. JOIN THE PAIRS OF SENTENCES WITH THE LINKING WORDS GIVEN. (2 pts)

1. Lisa is getting fat. She eats unhealthy food. ( as a result)

E. FILL IN EACH GAP WITH THE CORRECT WORD FROM THE LIST. (2 pts)

1. We . ... .. ... .. take the bus to the stadium; we can go on foot.
need to - need - needn’t

2. Moroccan NGOs often help villages. .. ............. suffer from poverty.
whom - which - whose

F. MATCH EACH EXPRESSION WITH ITS APPROPRIATE FUNCTION. (2 pts)

Expressions Functions
a. responding to good news

1. “I can’t concentrate on my work. What should I do?” ) )
b. expressing lack of understanding

. “In my view, video games affect children’s behaviour.” . .
c. asking for advice

. “That sounds great! Congratulations.” )
d. expressing apology

LW

. “What do you mean by ‘deforestation’?” i ..
e. expressing opinion

G. WRITE APPROPRIATE RESPONSES TO THE FOLLOWING SITUATIONS. (2 pts)

1.  Your friend: “I didn’t pass my driving test yesterday.”

2. Your friend: “My computer is infected with a virus.”
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III. WRITING (10 POINTS)
TASK 1 (4 pts) Complete the following paragraph about the most important invention.
I think the most important invention is ............. ... .. ..o on. There are at least three reasons
why this invention is important in our life. First, . ...

TASK 2 (6 pts) The travel magazine, Wonders of the World, wants to select the best city of the year.
Write an article to describe the city which you think is the best.
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READ TEXT A AND TEXT B AND ANSWER THE QUESTIONS.

TEXT A

[1] Mahatma Gandhi
was a great freedom
fighter and non-violent
activist. He was born in
1869 in Gujarat, India.
He completed his
. schooling in India and
went to England for
further study of law. He
then went to the British
colony of South Africa to practise law. There he

decided to become a political activist.

[2] Later, he returned to India and started a
powerful non-violent movement to fight for
India’s independence. Many times, he was sent to
prison, but he never discouraged himself and
continued fighting for national freedom. He
started many mass movements like Non-
cooperation Movement in 1920 and the Quit India
Movement in 1942.

[3] After so many struggles, India gained
independence in 1947. A year later, Gandhi was
assassinated. Gandhi proved that everything is
possible with non-violence and the unity of
people. Even after his death, he is still alive in the
heart of every Indian as ‘Father of the Nation’.

Adapted from: www.indiacelebrating.com

TEXT B

[1] Martin Luther
King was a great
symbolic leader who
worked for equality and
civil rights in the United
States. He was born in
1929 in Atlanta, Georgia.
He was a bright student
and skipped grades in
both elementary school

and high school. He graduated from high school at
fifteen. At university, he learned about Mahatma
Gandhi who helped change unfair laws in India by
teaching people to protest without violence. He
thought he could do the same in the USA.

[2] In 1954, Martin organised a protest
against racism on buses in Montgomery, Alabama.
He began to organise other non-violent protests,
and soon was a leader in the civil rights movement.
He was arrested and attacked many times. In 1963,
he led a march in Washington D.C. with over
200,000 people. In this march, he gave his famous
speech, “I have a dream”, in which he said that
people should not be judged by the colour of their
skin. Martin was awarded the Nobel Peace Prize in
1964. Four years later, he was assassinated in
Memphis, Tennessee. Martin Luther King's
birthday is a national holiday, and each January his
life and work are honoured by Americans.

Adapted from: www.encyclopediaofalabama.org
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I. COMPREHENSION (15 POINTS)

BASE ALL YOUR ANSWERS ON THE TEXTS.

A. FILL IN THE CHART WITH INFORMATION FROM THE TEXTS. (2 pts)

Mahatma Gandhi Martin Luther King
Date of birth |

Country of origin | ...

B. ARE THESE STATEMENTS TRUE OR FALSE? JUSTIFY. (3 pts)

1. Gandhi was assassinated before India became independent.

C. ANSWER THESE QUESTIONS. (2 pts)
1. Why did Martin Luther King skip grades at school? ... ... ... ... .. . . . i

D. COMPLETE THESE SENTENCES WITH INFORMATION FROM THE TEXTS. (2 pts)
1. Despite difficulties, Gandhi didn’t StOp .. ... .. o e

E. FIND IN THE TEXTS WORDS THAT MEAN ALMOST THE SAME AS (2 pts)
1. showed (Text A —paragraph 3): ......................

2. killed (TextB —paragraph2): ......................
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F. WHAT DO THE UNDERLINED WORDS OR PHRASES IN THE TEXTS REFER TO? (2 pts)

1. ‘Father of the Nation” (Text A —paragraph3) :........ ... .. .. ... .. ...
2. He (Text B—paragraph 1) :........ ... .. .. ... ....

G. CHOOSE THE RIGHT ANSWER. (2 pts)

Text A and Text B are about two

a. violent protesters.
b. prisoners of war.
c. political leaders.

Therightansweris.......... ... ... ..

II. LANGUAGE (15 POINTS)
A. GIVE THE CORRECT FORM OF THE WORDS IN BRACKETS. (2 pts)

1. Brahim’s (ambitious).................. is to become a lawyer.

2. The two political parties couldn’t (agreement) . .................. on the electoral reform.

B. FILL IN THE GAPS WITH THE APPROPRIATE WORDS OR PHRASES FROM THE LIST. (2 pts)

1. While I was shopping at the supermarket, I................. a famous actor.
letdown - puton - came across
2. Theinternational .................. is worried about global warming.
trade - community - system

C. REWRITE THE SENTENCES BEGINNING WITH THE WORDS GIVEN. (3 pts)
1. Because of bad weather, the airport authorities cancelled all flights.
Al gt . . o
2. “Where did you spend your holiday?” Rachid asked his friend.
Rachid wanted to KnOW . . . . ..o

3. You didn’t check a dictionary; that’s why you made many spelling mistakes.
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D. JOIN THE PAIRS OF SENTENCES WITH THE LINKING WORDS GIVEN. (2 pts)

1. Lisa is getting fat. She eats unhealthy food. ( as a result)

E. FILL IN EACH GAP WITH THE CORRECT WORD FROM THE LIST. (2 pts)

1. We . ... .. ... .. take the bus to the stadium; we can go on foot.
need to - need - needn’t

2. Moroccan NGOs often help villages. .. ............. suffer from poverty.
whom - which - whose

F. MATCH EACH EXPRESSION WITH ITS APPROPRIATE FUNCTION. (2 pts)

Expressions Functions
a. responding to good news

1. “I can’t concentrate on my work. What should I do?” ) )
b. expressing lack of understanding

. “In my view, video games affect children’s behaviour.” . .
c. asking for advice

. “That sounds great! Congratulations.” i
d. expressing apology

LW

. “What do you mean by ‘deforestation’?” i ..
e. expressing opinion

G. WRITE APPROPRIATE RESPONSES TO THE FOLLOWING SITUATIONS. (2 pts)

1. Your friend: “I didn’t pass my driving test yesterday.”

2. Your friend: “My computer is infected with a virus.”
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III. WRITING (10 POINTS)
TASK 1 (4 pts) Complete the following paragraph about the most important invention.
I think the most important invention is ............. ... .. ..o on. There are at least three reasons
why this invention is important in our life. First, . ...

TASK 2 (6 pts) The travel magazine, Wonders of the World, wants to select the best city of the year.
Write an article to describe the city which you think is the best.
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Beste Freunde gehen zusammen durch dick und diinn. Sie reden, lachen und streiten miteinander. Oft wohnen sie
an einem Ort, manchmal konnen sie sich auch nur iiber das Internet sehen. Zwei Jugendliche haben uns erzdhlt,

was ihre Freundschaft so besonders macht.

A. Yueli Chen (20), kommt aus China und studiert Geografie in Miinchen. Thre Freundin Lucia ist 23 und
studiert an derselben Uni Jura. Die beiden Maddchen kennen sich seit zwei Jahren.

,Vor zwei Jahren hat meine chinesische Deutschlehrerin gefragt, ob jemand eine deutsche Gaststudentin
aufnehmen will. Ich habe mich gemeldet, weil ich schon geplant hatte, nach dem Sommer fiir das Studium nach
Deutschland zu gehen. Dariiber bin ich heute sehr froh, denn die Gaststudentin heifit Lucia und ist jetzt meine
beste Freundin. Wihrend sie in China war, haben wir herausgefunden, dass wir beide an derselben Universitiit
studieren werden. Wir haben uns sehr gefreut. Am Anfang hatte ich in Deutschland viele Schwierigkeiten. Ich
war froh, dass Lucia an meiner Seite war. Ihr kann ich alles erzihlen. Ich bin so weit von zu Hause weg, da ist es
gut, dass ich nicht ganz alleine vor Problemen stehen muss. Lucia und ich haben uns zwar noch nie gestritten,
obwohl es schon manchmal schwierige Situationen gab. Lucia ist nicht nur meine beste Freundin, sondern auch

wie eine Schwester fiir mich.”

B. Katja (21), kommt aus der Ukraine und studiert in Miinchen Betriebswirtschaftslehre. Ihre beste Freundin
Tina (25) arbeitet zurzeit in der Schweiz. Die beiden sind seit einem Jahr befreundet.

,»Als ich meine beste Freundin Tina kennengelernt habe, fanden wir als Erstes heraus, dass wir die gleichen
Jacken haben. Da war klar, dass sich eine tolle Freundschaft entwickeln wird: In Sachen wie Mode, Tanzen oder
Kunst haben wir den gleichen Geschmack. Tina hat mich auch motiviert, mehr Sport zu machen. Wenn wir uns
treffen, joggen wir oder fahren Rad. Ins Kino gehe ich nur noch mit ihr. Sie wei}, welche Filme gut sind. Mir
gefillt auch, dass sie mir gut zuhdren kann und mir viele Tipps gibt.

Vor einem Jahr haben Tina und ich uns zum ersten Mal auf der Geburtstagsfeier eines Freundes getroffen. Dort
haben wir uns so gut verstanden, dass wir Telefonnummern ausgetauscht haben. Das Handy ist seitdem aus
unserer Freundschaft nicht mehr wegzudenken. Vor einigen Monaten ist Tina in die Schweiz gezogen und hat

mir zum Abschied ihr altes iPhone geschenkt. Jetzt konnen wir uns kostenlos SMS schreiben, damit wir den

Kontakt nicht verlieren®. wwwPasch-net.de
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Losung Bewertung | Korrekturanweisung

Al

- 2Pkte
E 1) In Miinchen/ An derselben Uni wie Yueli/ An der Uni in Die Antwort in evtl.
Miinchen. Ich-Form ist

2) Seit 2 Jahren Je 1Pkt akzeptabel

3) Auf einer Geburtstagsfeier eines Freundes.

4) ..., dass sie ihr zuhoren kann und ihr viele Tipps gibt.

-E 1) Lucia - 2) Tina Je 1Pkt

E 1) Falsch.

Begriindung: Ich bin so weit von zu Hause weg, da ist es gut, dass
ich nicht ganz allein vor Problemen stehen muss. / Am Anfang
hatte ich in Deutschland viele Schwierigkeiten. Ich war froh, dass
Lucia an meiner Seite war.

2) Falsch.

Begriindung:

- Lucia ist nicht nur eine...wie eine Schwester.

-Yueli 20...ihre Freundin Lucia ist 23.

- Die beiden Maddchen kennen sich seit 2 Jahren.

- Die Gaststudentin heif3t Lucia und ist jetzt meine beste

Freundin.

Je 3Pkte

¢ die Gesamtnote wird
erteilt, wenn der Priifling
die richtige Antwort mit
einer richtigen
Begriindung gibt. ¢ Istdie
Antwort richtig und die
Begriindung falsch, so
wird nur die Halfte der
Note erteilt. # Bei falscher
Antwort wird jede richtige
Begriindung nicht
bewertet.

In diesem Priifungsteil werden weder grammatische noch orthographische Fehler bewertet.

I.Lesen:2+4+3+6=15
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Losung Bewertung Korrekturanweisung

E 1) gleich(en) - 2) mehr - 3) gut/ toll - 4) verlieren Je 0.5Pkt
= -E Liebe - sich verstehen - kennenlernen - Kontakte Je 0.5 Pkt
b=
E 1) ...Freunde sowohl in China als auch in Deutschland. Je 1 Pkt
g, 2)... weder Chinesisch noch Spanisch.
(¢
g E .., 0b man als Auslander in Deutschland arbeiten darf. 2 Pkte
a
5 -ﬂ 1) Die Telefonnummern werden (von Katja und Tina)
5 ausgetauscht. Je 1.5 Pkte
£ | 2) Yueli wird (von Lucia) in China besucht./ In China wird Yueli
5' von Lucia besucht.
(=g
S | B 1) Zufriedenheit 2) Liebe 3) Bitte Je 1Pkt

1Pkt

II. Sprache und Kommunikation:2+2+2+2+3+3+1=15

1. Schreiben 4 + 6 = 10

Ldsung Bewertung Korrekturanweisung
MN-A) 3 B)5 D)2 E)9 F)4 G)8H) 7 )6 Je 0.5 Pkt
&
5 a) Angemessene Behandlung der vier Leitpunkte 4Pkte
=3
8 | b Erfiillung der Schreibabsicht und des inhaltlichen Zieles, 2Pkte
Formale Richtigkeit (Syntax,Form) und kommunikative
Gestaltung (Adressatenbezug, Textsorte)

Gesamtnote : 15+ 15+ 10 =40/2=20
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Losungen Bewertung Korrekturanweisungen

B b 2Pkt

EDB-2)A-3)C- 4D Je 1.5Pkte
&
@ 1) Auf einem Bauernhof (in Bayern). Je 2Pkte
s

2) Wegen einer Verletzung.
(M Da-2)b- 3)b e 1Pkt

In diesem Priifungsteil werden weder grammatische noch orthographische Fehler bewertet.

[.Lesen 2 + 6 + 4 + 3 =15 Punkte
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Losungen Bewertung Korrekturanweisungen
N1)d-2)c-3)b-4)a Je 0,5 Pkt
A= E 1) besichtigen- 2) treiben - 3) verbringen - 4) l6sen Je 0,5 Pkt
= o
S
E E|BDb-2)d-3)a-4c Je 1 Pkt
=~ &
= £
€ 2|M1)c- 2)a-3)b-4)c-5)b-6)a Je 0,5 Pkt
E 1) erlauben 2) verbieten 3) erlauben 4) verbieten Je 1 Pkt

II. Sprache und Kommunikion : 2 + 2 + 4 + 3 + 4 = 15 Punkte

Formale Richtigkeit (Syntax,Form) und kommunikative
Gestaltung (Adressatenbezug, Textsorte)

Ldsung Bewertung Korrekturanweisung
™ A4 -B)3-C)2-E)8-F)5-G)7- H)9-1)6 Je 0.5 Pkt
IB)
; a) Angemessene Behandlung der drei Leitpunkte 3Pkte
g
c;'; b) Erfiillung der Schreibabsicht und des inhaltlichen Zieles, 3Pkte

II1. Schreiben: 4 + 6 =10 Punkte

Gesamtnote : 15+15+10=40/2=20
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Don José, dice que en sus 70 afios de edad ha tenido una vida normal como ®

cualquier persona vidente y que nunca ha pensado que por ser ciego tiene que estar

arrinconado ni mucho menos, que ha perdido todo.

Es quimico, nadador, masajista, radioaficionado, sabe leer y escribir (con el ‘ \
método Braille), tiene conocimientos en informadtica y, con baston en manos, recorre la ciudad. “Tenemos
que ser conscientes, porque no lo podemos hacer todo, pero tampoco hay que echarnos a la tristeza tan
solo por no tener vista. Los videntes tampoco pueden hacerlo todo, a veces la gente no piensa en eso. Lo
que yo no puedo hacer lo hace otro, pero lo que yo puedo hacer lo hago yo, incluso en mi casa”, indica

Don José.

Su esposa Vicenta Nufiez de Abreu, dice que el haberlo conocido es una de las mejores cosas que le
ha pasado en su vida, porque segun ella, €l es un ejemplo a seguir, no s6lo para los ciegos, sino para todo
el mundo. “Yo me siento muy bien, porque mi esposo es muy amable, muy sencillo y nos comprendemos
muy bien, tenemos 15 afios de casados y nosotros nos tratamos como novios y nunca hemos tenido

problemas. Yo le ayudo a él y él también me ayuda a mi”’, sostiene Vicenta.

A sus 21 afios, Don José perdi6 la vista a causa de un tumor en la cabeza. Sin vacilar, se mudé a
Santo Domingo, donde por tres afios estudid en una escuela para ciegos, tanto lectura como artes
manuales, hasta que un amigo de Santiago, le consiguié trabajo en las empresas de J. Armando

Bermidez, preparando cajas y fregando botellas.

Adaptado de: http://prevenirlaceguera.blogspot.com/2011/07/

VOCABULARIO:

> vidente: persona que ve, que no es ciega.
» estar arrinconado: estar marginado, aislado, fuera de la sociedad.
> un tumor: un cancer.



http://prevenirlaceguera.blogspot.com/2011/07/
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I. COMPRENSION: 15 PUNTOS

1. Marca con una (X) el titulo adecuado : (2 puntos)

a.En una escuela para ciegos b.Historia de un vidente
¢. Vida de un ciego d.Problemas de un ciego
2. Disies “Verdadero” o “ Falso”: (3 puntos) V |F
a. Don José tiene 21 afios.
b. Vicenta Nufiez de Abreu no es feliz con su marido.
c. Don José se volvi6 ciego por culpa de un cincer.
3. Relaciona las ideas con los parrafos en los que aparecen: (3 puntos)
. . < » Parrafo 1
a.Un amigo ayudé a Don José a tener un empleo. .
. .. . L » Parrafo 2
b.Don José tiene aficiones y sabe informadtica. .
Los videntes son in de hacer todo | ieren > Pirafo 3
¢.Los videntes son incapaces de hacer todo lo que quieren. > Pérrafo 4
4. Contesta las preguntas : (7 puntos)
a. ¢(Quién es Don José? (1,5pto.)
B ettt e ettt e e e et aaaaaaas
b. Segiln su mujer, ;,cémo es Don José? (2,5ptos.)
B s
c. (En qué se diferencia Don José de los demds ciegos? (3ptos.)
B e
II. LENGUA Y COMUNICACION: 15 PUNTOS
1. Léxico: (4 puntos)
1.1.Marca con una (x) el significado que le corresponde a cada palabra: (4ptos.)
a. Fregar botellas b. Masajista ¢. Sencillo d. Se mudé
- Cerrar botellas. - El que recibe masaje. - Dificil - Dej6 de hablar.
- Limpiar botellas. - El que vende cremas - Complicado - Se traslad¢ a otro lugar.
para masajes
- Llenar botellas. - El que da masaje. - Natural - No cambid.
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2. Gramatica: (7 puntos)

2.1._Conjuga los verbos entre paréntesis en el tiempo y modo indicados: (3 ptos.)

a- Don José (tener) ... ........................ un accidente. Pretérito indefinido
b-Don José (ser) .... ................... ambicioso. Pretérito imperfecto de indicativo
c- Don José y Vicenta Nufiez (entenderse) ............... .. perfectamente. | Presente de indicativo

2.2.Pon los verbos entre paréntesis en el tiempo y modo_adecuados: (3ptos.)

a. Da pena que no todos los discapacitados (tener)......................... la misma suerte que don José.

b. Cuando don José se quedo ciego (empezar).............................. a estudiar en la escuela para ciegos.

2.3.Escribe la opcion correcta: (Ipto.)

- Debemos ayudar a los discapacitados porque ellos (tampoco/ ni / también) tienen derecho a vivir dignamente.

(Tienen que / Hay que / es necesario) estudiar carreras y conseguir un trabajo.

3. Funciones comunicativas_: (4 puntos)
3.1.Relaciona la funcién con la expresién correspondiente: (2ptos.)
Don José tiene una cita con una persona importante. Tiene prisa, entonces pide a su mujer el favor de llevarle en su

coche.

Funcion Expresiones
a. jAcércame, por favor!
- Pedir un favor b. ;Tiene usted la amabilidad de acercarme en su coche?
c. jAcérqueme, por favor!
d. ;Por qué no me acerca en su coche?

3.2.Completa el didlogo expresando la funcién indicada: (2pros.)
Don José comunica a su mujer que ha encontrado trabajo en una empresa de productos de belleza.

- Don Jos€ (dar informacion): “................. ... s

- Mujer de don José: “ ;Felicidades!”
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III. EXPRESION ESCRITA: 10 PUNTOS
NB. Tienes que hacer los dos temas de expresion escrita.

Tema 1 (4 puntos)

Don José estd pasando una entrevista de trabajo en el despacho del jefe de personal de una empresa de
productos de belleza.
Ordena la entrevista:

Entrevistador Don José

- ;Ha trabajado usted anteriormente en un puesto
- Por un amigo que leyo su anuncio en la prensa.
parecido?
- Si, pasé nueve arios en una empresa de pinturas.
- Buenos dias, [preséntese, por favor!.
- Buenos dias. Soy José Gutiérrez Collado. Tengo 45
- ;Por qué se presenta usted a este puesto?
anos, estoy casado y licenciado en quimica.
- (Como se ha enterado usted de este puesto de
- Soy quimico y quiero trabajar en lo mio.

trabajo?
S B VIS AAOT: .o ”
o B 10 1 T o TR
»
S B VIS AAOT: .. ”
e D 103 B0 T ”
S B VIS AAOT: .o ”
D 103 0T ”
B o) 111 51 E1 24 Lo) o PN ”
S D0OM 08 ”

- Entrevistador: “Muchas gracias. Contactaremos con usted.”

-Don José: “Muchas gracias a usted.”
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Tema 2 (6 puntos)

— Escribe un texto de unas 10 lineas sobre Gema Victoria utilizando las informaciones del recuadro:

1° Datos personales:
- Nombre: Gema Victoria Hassan — Bey Gonzalez
- Fecha y lugar de nacimiento: 02/07/1966, Madrid.
- Estudios: Licenciatura en Ciencias de la informacién.
- Profesion: Periodista.
- Aficiones: Miisica, cine, deporte.
- Deporte favorito: Esgrima.
2° Episodios mas importantes de su vida:
- Accidente de tréfico con sus padres dejandola discapacitada.
- Comienzo de la prictica de deporte en el hospital de parapléjicos de Toledo.
3° Efecto del deporte en su personalidad:
- Le ayuda a superarse, a tener disciplina.
4° Premios:
- 1995: Medalla de bronce.
- 2005: Medalla de plata en el Campeonato Europeo de Esgrima.

(3) pdisiall Ayga to Ja 3 L) Ay quiss Y
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BAREMO Y CORRECCION
(La nota final es sobre 20)

I. COMPRENSION: 15 PUNTOS

1.  Marca con (X) el titulo adecuado : (2 puntos)

| ¢ Vida de un ciego [ x|

2. Disies “Verdadero” o “ Falso”: (3 puntos) \'% F
a. X
b. X
c. X

3. Relaciona las ideas con los parrafos en los que aparecen: (3 puntos)
a. Un amigo ayud6 a Don José a tener un empleo. » Parrafo 1
b.  Don José tiene aficiones y sabe informatica. \ /5 »  Parrafo 2
c. Los videntes son incapaces de hacer todo lo que quieren < » Parrafo 3

\‘> Parrafo 4

4. Contesta las preguntas : (7 puntos.)

a. (Quién es Don José? (1,5pto.)
» Es un hombre de 70 afios, casado y ciego.

b.  Segtn su mujer, ;cémo es Don José? (2,5ptos.)
» Es un ejemplo a seguir. Es muy amable, muy sencillo, comprensivo y servicial.

c.  (En qué se diferencia Don José de los demads ciegos? (3ptos.)

» Aprendio a leer y a escribir, estudié quimica, tiene conocimientos en informatica, es radioaficionado,

nadador y masajista

II. LENGUA Y COMUNICACION: 15 PUNTOS

1. Léxico: (4 puntos)

1.1. Marca con una (x) el significado que le corresponde a cada palabra: (4pros.)

a.Fregar botellas b.Masajista c.Sencillo

d.Se mudo

- Limpiar botellas. | - El que da masaje. | - Natural. |

- Se trasladé a otro lugar. |

2. Gramatica: 7 puntos.

2.1. Conjuga los verbos entre paréntesis en el tiempo y modo indicados: (3 ptos.)

a. ...tuvo.....un accidente . Pretérito indefinido

b. ....era. ..

Pretérito imperfecto de indicativo

c. ..seentienden ....

Presente de indicativo
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2.2. Pon los verbos entre paréntesis en el tiempo y modo_adecuados: (3ptos.)

....tengan....
....empezo....

2.3. Escribe la opcion correcta: (Ipto.)
- también - Tienen que

Funciones comunicativas : (4 puntos).

3.1. Relaciona la funcién con la expresion correspondiente: (2ptos.)

-Don José tiene una cita con una persona importante. Tiene prisa, entonces pide a su mujer el favor

de llevarle en su coche.
Funcién Expresiones
-Pedir un favor. a. jAcércame, por favor!

3.2. Completa el didlogo expresando la funcion indicada: (2ptos.)
Don José comunica a su mujer que ha encontrado trabajo en una empresa de productos de belleza.

’

- Don José (dar informacion): «“ Carino, sabes que he encontrado un trabajo en...’

- Mujer de don José: ““ Felicidades!”

I11. EXPRESION ESCRITA: 10 PUNTOS
NB. Tienes que hacer los dos temas de expresion escrita.

Tema 1: (4 puntos)

Don José estd pasando una entrevista de trabajo en el despacho del jefe de personal de una empresa de
productos de belleza.

Ordena la entrevista:

Entrevistador Don José
- ;Ha trabajado usted anteriormente en un - Por un amigo que leyé su anuncio en la prensa. 4
puesto parecido? 7 - Si, pasé nueve aiios en una empresa de pinturas. 8
- Buenos dias, [preséntese, por favor!. 1 - Buenos dias. Soy José Gutiérrez Collado. Tengo
- ;Por qué se presenta usted a este puesto? 5 45 arios, estoy casado y licenciado en quimica. 2
- ;Como se ha enterado usted de este puesto de - Soy quimico y quiero trabajar en lo mio. 6
trabajo? 3

Tema 2: (6 puntos)

— Escribe unas 10 lineas sobre Gema Victoria.
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I LETTURA
eggi il testo e rispondi alle domande.

L’estate si avvicina ed e arrivato il momento di cercare un lavoro estivo per guadagnare un
po’ di soldi, per occupare una parte del tempo e per imparare qualcosa di nuovo.

La ricerca del lavoro estivo non & una cosa semplice. E importante essere preparati. Per
facilitare la ricerca del lavoro bisogna prima di tutto scrivere un curriculum vitae (CV).
Infatti il CV e uno strumento che racconta il percorso formativo e le esperienze
professionali. E fondamentale che sia scritto in modo semplice. Bisogna evidenziare quello
che sai e quello che sai fare. Un altro strumento utile e avere un indirizzo e-mail valido. La
posta elettronica e utilissima per mandare le tue candidature e per ricevere le
comunicazioni da parte dei datori di lavoro per fissare un colloquio di lavoro. Anche in
questo caso cerca di creare un indirizzo semplice e serio, usi solo il tuo nome e
cognome.

Il bello del cercare un lavoro estivo e la possibilita di lavorare e allo stesso tempo di
divertirsi. I settori in cui il numero di candidature richieste € elevato sono agricoltura,
turismo e animazione. E fra i lavori piu richiesti ci sono: camerieri, segretari, lavapiatti,
istruttori sportivi, animatori, parrucchieri, musicisti, accompagnatori per vacanze studio
all’estero, ecc.

Il luogo dipende dal settore lavorativo e dal lavoro che tu desideri svolgere. I lavori estivi si
possono fare in diverse localita in Italia e all’estero. Ad esempio in citta m puoi trovare
presso piscine comunali, gelaterie, pizzerie e ristoranti che restano aperti in estate. In
provincia invece puoi trovare lavori in agricoltura presso contadini o cooperative agricole.
Anche al mare si possono trovare lavori presso alberghi, campeggi, bar, ristoranti, villaggi
vacanza, ecc. E in montagna ci sono lavori presso alberghi, campeggi e parchi naturali.

Per cercare le offerte di lavoro che ti interessano ci sono centri sia nella tua citta sia in altre
localita che ti aiutano a trovare l'impiego conveniente. Esistono anche siti internet con
offerte per il lavoro estivo. C’é inoltre la possibilita di fare domande di lavoro direttamente
alle strutture turistiche, alberghiere, ecc., anche se non ci sono offerte pubblicate.
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I LETTURK
Prova A (I punto)

Scegli il titolo adeguato al testo.

1. Cercare un lavoro estivo all’estero O
2. cercare un lavoro estivo in Italia O
3. Cercare un lavoro estivo O

Prova B (6 punti)

Segna con una croce (X) se queste affermazioni sono vere o false: (USRI X77)!

AFFERMAZIONI

E facile cercare un lavoro estivo.

Alcuni lavori estivi sono divertenti.

Ci sono poche offerte di lavoro estivo.

E possibile trovare lavori estivi solo in Italia.

Le citta e le province italiane offrono gli stessi lavori estivi.

OV U | [W (N | =

Le offerte di lavoro estivo sono pubblicate solo su Internet.

(3 punti)

Completa le frasi con le informazioni del testo.

(0.5 per risposta)
1. Con il lavoro estivo, e possibile:

a.

b.

C.

d.

2. Per trovare un lavoro estivo, il candidato deve:
a.

b.
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(3 punti)

Trova nel testo i contrari delle seguenti parole:RERUIT R TA@aRy 217

1. perdere (paragrafo 1) %
2. complicata (paragrafo 2) %
3. basso (paragrafo 3) #
Prova E (2 punti)

A che cosa si riferiscono le parole evidenziate nel testo? JERAN N TIRIRITeXi1))

1.DOVE :
2.LI1

(TOTALE /15)

Il. RIFLESSIONE SULLA LINGUI

Prova A (4 punti)

Completa le frasi con la forma adeguata dei verbi tra parentesi. (@RI TIRIN 2eX 7Y,

1. Lunedi prossimo parto per la Cina e (stare) via un mese.

2. Mentre (tornare) a casa, abbiamo visto un brutto incidente.
3. Se tu leggessi bene 'orario, non (perdere) il treno.

4. Spero che Laura adesso (trovarsi) bene.

Prova B (3punti)

Scegli la parola giusta fra quelle proposte. KUY 2@ 2 17)]

Dove passero le vacanze questa primavera? Allora rimarro in citta per - di - a lavoro, ma mia moglie e le
- i - gli miei figli andranno due settimane a casa dai miei in campagna. lo li - vi - le raggiungero
domenica sera. Credo che alcuni - qualche - alcune volte potremo fare un salto nella citta vicina, dove -
che - cui andremo al cinema o a teatro. Ci - Ne - Si divertiremo un sacco.
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Prova C (3 punti)

Completa il testo scegliendo le parole dalla lista. (@RI XIEINITeX 77Y!

[ dare — freschi — preparare — venduti — visitati ]

I tiramisti & un dolce molto famoso. E uno dei dolci italiani piu al mondo. Non e
difficile questo dolce. Il segreto di un buon tiramisu é l'uso di ingredienti
e genuini: uova, zucchero, mascarpone, caffe, cacao e biscotti savoiardi.

(1 punto)
Cancella la parola che non appartiene al gruppo. KUY ZA@ay 2N 17))

Esempio: fratello - padre - emiee — nonna

1. penna - matita - cartella - tavola
2. uovo - tacchino - pollo - vitello

Prova E (4 punti)

TR DR XX LR T 34 TXA (| punto per risposta)

a. gusto
1. Paolo e alto un metro e sessanta. b. ordinare 1 2 3 4
2. Ogni tanto faccio un po’ di sport. C. accettare
3. D’accordo. Ci vediamo li. d. descrizione
4. Un gelato al limone, grazie. e. frequenza
f. consiglio

(TOTALE /15)
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I1I. PRODUZIONE SCRITTI

Parla del tuo modo di vestirti: stili, colori ecc. E cosa ti piace dell’abbigliamento dei tuoi compagni? (Devi
scrivere circa 100 parole)

(TOTALE /10)
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N.B. Si prega di accettare qualsiasi risposta conveniente non menzionata in queste chiavi.

I. LETTURA

N.B. Non si deve penalizzare lo studente per gli errori di lingua.

Prova A | 3. Cercare un lavoro estivo 1pt
ProvaB | 1.F 2.V 3.F 4.F 5.F 6.F 6 pt/
1 per item
1. a. guadagnare un po’ di soldi
b. occupare una parte del tempo
Prova C c. imparare qualcosa di nuovo 3pt/ )
. .. 0.5 per item
d. divertirsi
2. a. scrivere un CV b. avere un indirizzo e-mail valido
Prova D | 1. guadagnare 2. semplice 3. elevato 3 pt/
1 per item
Prova E | 1.un indirizzo (e-mail) semplice e serio 2. (I) lavori estivi 2pt/
1 per item

1. RIFLESSIONE SULLA LINGUAR

TOTALE 15

. Si attribuisce 0 punti a qualsiasi risposta completamente o parzialmente shagliata.

Prova A

1. staro 2. tornavamo 3. perderesti 4. si trovi

4 pt/
1 peritem

Prova B

per —i-li - alcune - dove - Ci

3pt/
0.5 per item

Prova C

venduti — preparare - freschi

3pt/
1 per item

Prova D

1. tavela 2. ueve

1pt/
0,5 peritem

Prova E

1.d 2.¢e 3.c 4.b

4pt/
1 per item

l1l. PRODUZIONE SCRITTA

TOTALE 15

Per la correzione, si utilizzi la seguente griglia:

1. Adeguatezza e completezza 2.5 pt
2. Efficacia comunicativa 2 pt
3. Correttezza morfosintattica 2 pt
4. Lessico 1.5 pt
5. Ortografia e punteggiatura 1 pt
6. Lunghezza 1 pt

TOTALE 10

Per ottenere il punteggio finale si prega di dividere il totale ottenuto per 2.
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